
. 

June 1. 2014 TREAD PLATE 
 2014 
 

1 
 

 

Tread Plate Parts List 
1 DDT000.100 3.0m Tread Plate  

1 DDT000.101 3.6m Tread Plate  

2 DDT002.100 2- Step Ladder  
3 DDT003.300 Short Safety Rail  

3 DDT003.303 Long Safety Rail  

4 DDT004.003 Ladder/Tread plate mounting bkt  

5 DDT005.004 Tread plate mounting bracket  

 DDT005.005 Rectangle 6 hole plate for safety rail  
6 DD1012.000 75mm 2x Hole Holding Plate  

7 DDT009.000 Safety Rail “U” bolt  

 1MHC10030G M10x30 Bolt Gal 20 

 1MHC12045G M12x45 Bolt Gal 2 
 1MHC12110G M12x110 Bolt Gal 8 

 1NNMC12 M12 Nyloc nut 10 

 1NNMC10 M12 Nyloc Nut 20 

 1WFGH10G 10mm heavy flat washer gal 20 
 1WFGH12G 12mm heavy flat washer Gal 2 

 

 


